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Explain the “Walter Formula” of dividend distribution. To
what extent does the formula help in understanding the
dividend policies pursued by Indian companies ?
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What do you mean by Dividend Policy ? Describe the : (Optional Group—B : Management)
types of dividend policy. State the advantages of an ideal Paper First
SR s FINANCIAL MANAGEMENT
—5
(UNIT. 5)‘ Time : Three Hours
5 WWW@WW% ? T TBR @ Maximum Marks : 100
ST ¥ g At @ Wi e @i | - e Wl Ol we $ wwR R | yeie s Y ue g
What is meant by Working Capital Forecast ? Briefly B it 2 | Wl vt % aim- g %)
explain the techniques used in making such forecast,
3RrEr 2 ' Attempt all the five questions. One question from each
(Or) : Unit is compulsory. All questions carry equal marks.
T Y9 BT R A § 2 W YT @ e o i TPE—1
T P v wERe ReE @ Re s Tt pisaagn
AIRYD 7 ? : _ | :
What is meant by Inventory Management ? Discuss the 1. faxha w1 e Rl R § ? TP ge] WIeT @ faw
_objective of inventory management. Why is it essential to YeRE @ BT E e R |

a business concern ?
' What do you understand by Financial Management ?

! Discuss the functions of the Financial Manager of a large
organisation.
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1 15,000 5,000
2 20,000 15,000
3 25,000 20,000
4 15,000 - - 30,000
5 10,000 20,000
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ABC Company is considering the purchase of a machine.
Two machines A and B are available each costing
- ¥ 50,000. Earning after taxation and before depreciation
-are expected to be as under : '

Yéir Machine A Machine B
®) ®)
1 15,000 5,000
P 20,000 15,000
3 25,000 20,000
4 15,000 30,000
) 10,000 20,000

Evaluate the two alternatives according to :

(i) Payback period method.

(ii) Average return on investment method.
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What are the components of cost of capital ? What is the

cost of retained earning ? How is the cost of new equity

issues determined ?
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(i) | =TT 9% 6,00,000
(i) | gaffrem s 7% 2,00,000
(ili) | W 3 24000 6,00,000
@v) | ufcenRa s 4,00,000
G Yoll 18,00,000
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A company was recently formed to manufacture a new

product. Capital sources :

4
(i) | Debenture 9% 6,00,000
(ii) | Preference Share 7% 2,00,000
(iii) | Equity Share 24000 6,00,000
(iv) | Retained earnings 4,00,000
Total Capital 18,00,000

The market price of the equity shares is ¥ 40. A dividend
of ¥ 4 per share is proposed. The company has marginal
tax rate of 50% and personal tax of shareholders is 25%.
Compute the after tax weighted average cost of capital for
the company.
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The following projections are related to Companies A
and B :
A B
Output and Sales (units) 40000 50000
Variable cost per unit 4 3
Fixed cost 120000 | 125000
Interest Burden on debts 60000 25000
Selling price per unit 10 8

On the basis of above data compute :
(i) Operating Leverage
(ii) Financial Leverage
(iii) Combined Leverage
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What do you mean by Capital Structure ? When should it
be called optimum ?
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